General Chemistry formula sheet

Prefix | Symbol | Factor
Giga G 10°
Mega | M 10°
Kilo K 10°
centi | C 10°
milli m 10°
micro | K 10°
nano n 107
1 mol

= 6.022 * 10%3molecules

1cm3 =1mlL

Name Formula Name Formula
Acetate C,H;0, Phosphate PO,>
Carbonate CO5” Ammonium NH,"
Bicarbonate HCO5 Chlorite Clo,
Hydroxide OH Chlorate ClOos
Nitrite NO, Sulfite 505~
Nitrate NO; Sulfate S0,”
Cyanide CN°
Density = < = Do M.V, = M,V,
Bh _ Rk PV = nRT X = 24
e T, total mol
Py = Xa * Protar q = mcAT q =nAH
c=v AH®pxn = XNpAHs — Y, AHf

FC = # of valance e — [#0of lone pairs + # of bonds]
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COMMONS
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Prefix | Symbol | Factor Name Formula Name Formula
Acetate C,H;05 Phosphate PO,>
Giga G 10° Carbonate Co5” Ammonium NH,"
. Bicarbonate HCO5 Chlorite Cloy
Mega | M 10 Hydroxide OH Chlorate cloy
Kilo | K 10° Nitrite NO, sulfite S0,>
centi | C 10° Nitrate NO; Sulfate SO.”
milli m 10-3 Cyanide CN
micro | K 10°
nano | n 10° Density = -2 M = Telsolute M.V, = M,V,
PV PV, volume L solution ol A
172%122 * 1023molecules B } T PV =kt 4™ totar mal
'1 o = 1mlL Py = Xa * Protar q = mcAT q = nAH
c=A AHC e = YNpAH — Y0 AH¢

FC = # of valance e — [#0of lone pairs + # of bonds]

This instructional aid was prepared by the Tallahassee Community College Learning Commons.
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Py _ —AHygp 1 1 __mol solute .
Ing"=— (Tz T1) ~ kg Solvent ATy = imK;
AT, = imK,, rate = k[A]*[B]™ InX_fel_2,
Ki R, T,
pH + pOH = 14 pH = —log[H;0%] pOH = —log[OH™]
b o] o
pK, = —logK, pH = pK, + log [[a‘zf;] AG® = —nFE° .y
Order Rate law Integrated rate law Half-life
0 rate = k[A]° [A]; = [A]o — kt [A]o
t1 = ——
5 2k
1 rate = k[A]* In[A]; = In[A], — kt - In2
; _ k
= 2 1 1 1
2 rate = k[A] ekt £y =
[A]l:  [Alq 7z k[A]o

This instructional aid was prepared by the Tallahassee Community College Learning Commons.

COMMONS
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Py _ —AHyap 1 1 __ molsolute .
Py - R (Tz Tl) - kg Solvent ATf - lme
AT, = imK,, rate = k[A]"[B]™ nX=fal_1
Ki R, T,
pH + pOH = 14 pH = —log[H;0%] pOH = —log[OH™]
b o] {e]
pK, = —logK, pH = pK, + log [[a‘zf;]] AG®° = —FE° oy
Order Rate law Integrated rate law Half-life
0 rate = k[A]° [A]; = [A]o — kt [A]o
t1 = ——
5 2k
1 rate = k[A]* In[A]; = In[A], — kt o In2
ik
= 2 1 1 1
2 rate = k[A] e ikt by =
[A]le  [Alo 7 k[A]q
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